2013-01-07 IMP-mestaruus

Jakotaulut

7 poytaa, 14 paria. Jakomdard: 26. Butler IMPs. Vertailu.

Sija Pari Pisteet Vert Nimi Kerho vp
1 12 42 Jari Laakso - Arvo Priimdgi Salon BK 7
2 4 33 Borje Salonen - Birger Salonen Salon BK 4
3 10 29 Juho Nadppa& - Anne Vesanen Salon BK 2
4 7 27 Pertti Holmberg - Nikolai Kaplitsnoi Salon BK 1
5 1 23 Henrik Laaksonen - Leif Mickelsson Salon BK
6 14 21 2 Kari Kanerva - Jarmo Laakso Salon BK
7 8 21 0 Stig-Olof Andersson - Harry Vuorinen Salon BK
8 11 20 Timo Makeld - Eino Nygren Salon BK
9 13 2 Antti Alén - Veli-Pekka Lukka Salon BK
10 3 -25 Riitta-Liisa Makelda - Anni M&keld Salon BK
11 5 -26 Jukka Pettersson - Reijo Haartola Salon BK
12 2 -49 Lasse Saloranta - Antti Voitto Salon BK
13 9 -50 Jorma Vapaa - Taisto Louhikoski Salon BK
14 6 -68 Kari Launis - Markku Juva Salon BK
Jako: 1 Jako: 2
Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
12 5 6C E -1 D10 50 9 -9 -330 14 1 4Hx S +1 D5 990 13 -13 230
14 1 3N E -1 S2 50 9 -9 8 13 4H S = D10 620 9 -9
3 2 3N E = 83 -400 -2 2 9 11 3D E -4 C9 200 -1 1
8 13 5C E +1 S2 -420 -3 3 3 2 2H S +2 D7 170 -2 2
9 11 5C E +1 C9 -420 -3 3 6 10 1IN E -2 S5 100 -4 4
6 10 3N W +2 D2 -460 -4 4 7 4 1N E -1 s4 50 -5 5
7 4 3N E +3 D10 -490 -4 4 12 5 3N N -1 DQ -100 -8 8
Jako: 3 Jako: 4
Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
4 3 4H N +1 SQ 450 5 =5 250 4 3 4s S +1 DQ 650 6 -6 400
8 5 4H N = SQ 420 5 =5 10 12 4s N +1 D10 650 6 -6
13 6 2H N +4 DJ 230 -1 1 8 5 4s N = H3 620 6 -6
7 11 3H N +2 SQ 200 -2 2 13 6 458 N = D10 620 6 -6
9 1 4s W -2 D8 200 -2 2 7 11 18 N +4 D10 200 -5 5
14 2 3H N +2 SQ 200 -2 2 14 2 458 S -1 HJ -100 -11 11
10 12 4s W -1 CA 100 -4 4 9 1 4Hx N -2 D10 -500 -14 14
Jako: 5 Jako: 6
Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
9 6 4C W +3 SJ -190 5 =5 -400 10 2 4s w -1 C7 100 8 -8 -260
10 2 2N W +5 HS5 =270 4 -4 11 13 38 W = H4 -140 3 -3
11 13 3N W = S3 -400 0 0 1 7 1s W +3 C4 -170 3 -3
5 4 4H W = S3 -420 -1 1 9 6 2S W +2 C7 -170 3 -3
1 7 5D E +2 SK -440 -1 1 14 3 3s W +2 C7 -200 2 =2
8 12 3N W +3 SJ -490 -3 3 5 4 43 W = H4 -620 -8 8
14 3 3Sx S -2 SA -500 -3 3 8 12 4s W = D9 -620 -8 8
Jako 7 Jako 8
Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
14 4 6H E -2 s7 200 11 -11 -330 6 5 3D W -1 Cc2 50 2 =2 -30
10 7 5C E -1 HA 100 10 -10 10 7 3S E -1 H4 50 2 =2
11 3 3N W -1 S5 100 10 -10 12 1 4D W -1 H2 50 2 -2
2 8 4H E = 83 -620 =7 7 14 4 3H N -1 CA -50 -1 1
6 5 4H E = 83 -620 =7 7 2 8 18 E +1 CK -110 -2 2
9 13 4H E = H3 -620 =7 7 9 13 2S E = CK -110 -2 2
12 1 4H E = 8J -620 =7 7 11 3 28 E +1 CK -140 -3 3
Jako: 9 Jako: 10
Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
3 9 4H S =50 420 4 -4 260 12 4 1IN E -2 C2 200 2 =2 120
7 6 4H S =50 420 4 -4 7 6 2S N +2 D10 170 2 =2
12 4 4H S = 356 420 4 -4 13 2 28 N +1 D3 140 1 -1
13 2 3H S +1 S0 170 -3 3 10 1 2s N = HK 110 0 0
11 8 2H S +1 C2 140 -3 3 11 8 1IN E -1 C5 100 -1 1
10 1 3D N +1 CA 130 -4 4 14 5 1IN E -1 C2 100 -1 1
14 5 2N S = 50 120 -4 4 3 9 38 N -1 CA -100 -6 6



Jako: 11 Jako: 12

Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
4 10 3N S +2 C9 460 2 =2 390 1 3 58 E -1 HA 50 10 -10 -380
11 2 3N N +2 sS4 460 2 =2 12 9 28 E +2 S10 -170 5 -5

12 9 3N S +1 C5 430 1 -1 14 6 3N E = H3 -400 -1 1

13 5 3N S +1 383 430 1 -1 11 2 48 E = C5 -420 -1 1

14 6 3N S +1 Cc4 430 1 -1 4 10 3N W +2 D2 -460 -2 2

8 7 1IN S +3 S8 180 -5 5 8 7 3N W +2 S2 -460 -2 2

1 3 6N N -3 SK -150 -11 11 13 5 3N W +2 D4 -460 -2 2

Jako: 13 Jako: 14

Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
12 3 2Sx N +1 HA 870 13 -13 80 9 8 2H S -1 SA -50 2 =2 -110
1 6 4s S = CA 620 11 -11 12 3 2H S -1 DA -50 2 =2

13 10 3C N = S5 110 1 -1 13 10 3H S -2 DA -100 0 0

511 1N N -1 H3 -100 -5 5 1 6 2S E +1 CA -140 -1 1

14 7 4s N -1 C4 -100 -5 5 2 4 23 E +1 CA -140 -1 1

2 4 2H W +1 SA -140 -6 6 14 7 38 E = CA -140 -1 1

9 8 1IN N -3 H3 -300 -9 9 5 11 4H S -3 C5 -150 -1 1

Jako: 15 Jako: 16

Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
1 11 5C S = HA 600 9 -9 230 3 5 3Sx N -1 CK -100 10 -10 -560
14 8 5C S = HK 600 9 -9 10 9 2N W +1 S9 -150 9 -9

10 9 4cC S +1 HA 150 -2 2 2 7 B5H E = SQ -650 -3 3

13 4 3C S +2 HA 150 -2 2 14 8 5H E = 54 -650 -3 3

3 5 4C S = HA 130 -3 3 6 12 5H E +1 SQ -680 -3 3

6 12 3C S +1 HA 130 -3 3 13 4 5H E +1 Ss2 -680 -3 3

2 7 3N S -2 HA -200 -10 10 1 11 5Hx E = CQ -850 -7 7

Jako: 17 Jako: 18

Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
1 5 3N S =2CJ 400 7 =7 100 1 5 5C E -1 H2 50 2 =2 -30
14 9 2Sx W -2 DA 300 5 -5 4 6 5C W -1 SK 50 2 =2

3 8 1H N +2 D2 140 1 -1 7 13 5C W -1 H4 50 2 =2

2 12 2C N = C7 90 0 0 11 10 5C E -1 SK 50 2 =2

7 13 Pass 0 -3 3 14 9 2C E +2 S6 -130 -3 3

4 6 2N S -1 83 -50 -4 4 3 8 2N E +2 S6 -180 -4 4

11 10 3N N -2 D4 -100 -5 5 2 12 3N E = S8 -400 -9 9

Jako: 19 Jako: 20

Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
8 1 2Hx S +1 DK 570 10 -10 90 2 6 1N N +2 S3 150 4 -4 -10
3 13 2H N +1 DA 140 2 =2 5 7 1IN N +1 S3 120 4 -4

4 9 2H S +1 C1l0 140 2 =2 8 1 1IN N +1 S3 120 4 -4

12 11 2H N +1 CQ 140 2 =2 3 13 3N S -1 CJ -100 -3 3

14 10 2H S +1 D6 140 2 =2 4 9 3N S -1 CJ -100 -3 3

2 6 3D E = SQ -110 -5 5 12 11 3N S -1 CJ -100 -3 3

5 7 28 E +1 D9 -140 -6 6 14 10 3N S -1 CJ -100 -3 3

Jako: 21 Jako: 22

Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
4 1 4H E -3 D8 150 4 -4 10 9 2 3N W -1 s4 100 4 -4 -50
14 11 3D S = H3 110 3 -3 13 12 3N W -1 H4 100 4 -4

5 10 3H E -2 SQ 100 3 -3 14 11 3N W -1 H4 100 4 -4

13 12 3H E -1 DK 50 1 -1 510 2D W +1 sS4 -110 -2 2

6 8 4D S -1 HJ -100 -3 3 6 8 3C E = H6 -110 -2 2

9 2 1H E +1 SQ -110 -3 3 3 7 2N E +3 S8 -210 -4 4

3 7 3H E = S0 -140 -4 4 4 1 3N W = S6 -600 -11 11

Jako: 23 Jako: 24

Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
4 8 3N S +2 H5 660 10 -10 200 4 8 48 S = HQ 420 7 =7 130
5 2 3N N +2 S3 660 10 -10 113 1IN S +3 HQ 180 2 =2

7 9 3N N +1 CJ 630 10 -10 10 3 28 N +1 CK 140 0 0

1 13 6N N -1 H9 -100 =7 7 6 11 1S S +1 HQ 110 -1 1

6 11 6N N -1 CQ -100 -7 7 7 9 3D N = CK 110 -1 1

10 3 6N N -1 H9 -100 -7 7 14 12 2C E -2 CQ 100 -1 1

14 12 6N S -1 585 -100 -7 7 5 2 38 S -1 HQ -50 -5 5

Jako: 25 Jako: 26

Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos



5 9 2D E +2 C7 -130 9 -9 -540 7 12 6D S = D9 1370 10 -10
8 10 2D E +2 C2 -130 9 -9 11 4 6D S = D2 1370 10 -10
14 13 4H W = S5 -620 -2 2 14 13 6D S = D9 1370 10 -10
2 1 3N E +1 C7 -630 -3 3 8 10 3N N +3 H8 690 -6 6
6 3 3N E +2 C2 -660 -3 3 2 1 3N S +1 C7 630 =7 7
7 12 3N E +2 S5 -660 -3 3 5 9 3N N +1 D10 630 =7 7
11 4 4Sx S -5 D5 -1100 -11 11 6 3 3N N +1 H9 630 =7 7

Jakotaulut



